OAZACHIT/LICHEAE Z ZatA
o o 5 A ARNSER RIZAHRIE AL AOiEae
8o saEgwA B ey SJ3226
BT o= Erpe= 3.2km/h RN S0/ZMEZ | 9.8M/227KG
s 27001766 ErEEEE 2023.06.13
e 2014.10.02 HASA R o=
e 2SS ZAZDH ZRIALE
T SEAE
(l)s=wsns MELS2E 153 0IUIS HHI0ID,0l2 Al Aaen )
ZODIBOIN ZEE @A OIS AHJ HIXE0 US 0
SO, OFRE2l ), BESS UL ZAl S=A XG0l US 2 )
SHAS NHIO 2/ L QA (18 DRSS 2 LA X012 S& (K S)01 A0l US 2 0
2. XIS} EFOI0T(9F =)
(1) XI5 2 ELOI0] | RXIO 2L, B8, A4 2 A0 222
(orE 7)) EFI010] OTA0IS & HE0l 9 2S04 A 0501 A5 90T 93§59 AZEE, HE =0] o
e 2D HZE 2
@) sad QOEIY DE= SAAEL ANG D REAHA A5 IS 0IAS0l 9 &
SUMRD, SUBA, NI0/Z, WS, YOS OESE 2% A4 U 0120|201 JIES 20| 22 &
REQ 9= AF 9US N6 RES0 990 AS ©
EHNO CE, 28 U O SA0 20 HASES B0 O3 251} Ge R
3 0 SRS~ E)
(1) 2x% IS Aol 2F A5 AKA O PEES 1S 4 U= 0F PAYES PHE 2
TXE0 7%, UE L 2801 04 SN E 02 DB S 955 ESUSOIEaEEA go)=| O
M RSE D UIE G2 =9I} oS
L
e FOITIo] oS0l 1.0m 014, TEOr0[H =0/ 0.15m 01 A(ETTT=0.1m 01&) 0151 ZS TSI
=oh & 91 OO| T ALO] 0.55m OILIS] =2H0) & XIa 2 &
=2 wsEx IS OIS W40} Jhsaln DI NN A 2
@) 2asca D0 BFEH 019t XIBOIA 0.4m ZHAl B2ANCRIE 2XE 2 0
5. RO &R
> ERS ZO00 RS0 SIors HECE SUSIAE S55i3 BETU8E 200 JI5E TE5T
(1) HIOI&X TAG YS A
b 3 =
SHEXNS TN S8 A5 OSSNE S8 7 o
(EZHO Q101012 AIX T ZmA 010101 ASIT)
6. EA
sy THN= AANS, CEE(EAHE), AX05, =0, 05050, Z55 = 588509 %, 3
(13 HOISE4 UGS AA. SR AL, OIFQIS TASS TAS 2
A= B2AGHS, ISSSOARL, HUGISES(SURY B M)S BAR & 0
HINOI AR 9K 2 ASHE SAE 2
7. B4 2 AN S
DEEE FXE, 0/S, ES, JDIBE, 505, A0S, 2E, S5/ 00 S, U5S TEANE, EE, 00
FoimI S TS ACHASS NS S Y XYFAS MK AN SEE0l AA0| G010 BE
. ROl Bedl, o, S0, 02, S0, 5180 SIS B0E RS RENEI] Do g
(2) 1A= . )
Q)=S0 2 2uEz |250] U ADEA9 29 FII= JI=9 Eel olud 2 0
8. oI A7
. RO A58 A0Z A0 OSA SHEEE TE02 ABo= 2301 92 &
=0 P
(NUSATEX Z=80| 2IHSHCE A7) 9
O BNENE TNl AN I8 B (N IS SOA N2 T =50 SIS SC=E g 3 o
(A=Y TR (SEpsE M)
(3) HIABXE R HIAZKE SSHES HM0/0 HEUS0 SEUD 4S02 275 SAY 2 0
o 5 Soe ¥ T 2 = =2 = I —13 =
P HSS0| ATEEN, OG0l HUUE WA UE & 9= 90 R8s SAND £ A= 0F |
OIMAXIE MXI& A
2 AT 9 A
% ANZN A 25 O, ZH(DS) A, 08 O, MR(EE, Bl x, DS -
AKEOL EF A =
DAZIRAC AT ADEST|
7

ik




